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(&) Y (8) T&RF-EA0AY
12, 'Ehefens’ *mit Alw f<Umn Fa9E -

13. Choose the correct sentence:

®) The more you read, less you understand.

© The more you read, the less you understand.
14. Which word is wrongly spelt?

®) Deceive Receive

15. What is the right synonym of "Hostile'?

@) Flexible Happy

© A= ) =
®
© e + WETT ©) o) + ST

©

More you read, less you understand.
® More you read, the less you understand.

®

© Recede ©® Reciept
©
© Unfriendly © Indifferent

16. TS 24 04 R Gurf ¢,00,000 B 0 @6 ST Aqes @3 I W SRR 60 €7 T ¢0,000
B | AHE So% A FTMAT *Tahers @57 4 F0E OGS JHge Sa57 TAE 2,3¢,000 O | IH 9
3,¢0,000 GIFR [@n 71 =@ TS BI6l #ie A e 2A? (A few years ago, Jhilmil Traders purchased an
office equipment at a cost of Tk. 5,00,000 and estimated its salvage value of Tk. 50,000. As of today, the

accumulated depreciation at 10% per annum under straight-line method is of Tk. 2,25,000. Today if it
could be sold for Tk. 2,50,000, what would be the gain or loss on this sale?)

® =S 00,000 BRI (Tk. 3,00,000 loss)
© e 3¢,000 BIF (Tk. 25,000 gain)

o a¢,000 BIF (Tk. 25,000 loss)
© M 2,9¢,000 BIF (Tk. 2,75,000 gain)

17. AT T @ e frsa @i 75 TARee A @i 90 202 (Which one is added to net income in ()

the calculation of operating cash flow?)

®) T3 (Depreciation)
© veife i g (Increase in current liabilities)

st Awrse T (Gain on sale of investments

(© veife FPoome g (Decrease in current assets)

18. @GANTE @AME ¢3,000 BF, FRS TAWIfE “Nem 3,000 BIFT @FR TES TAMIA el 3,000 GFT | W
AR 8o 9% Al a2 27 9 IAmIfY sitea sfod (&t D 3,000 BIFT 22, SR e q=rd
IR e AE FS ALCS 2@72 (In trial balance, account receivable is of Tk. 52,000 recorded bad debt
of Tk.2,000 and unrecorded bad debt of Tk. 2,000. What is the amount of allowance for doubtful accounts

kept in current year if the allowance is 5% on accounts receivable and credit balance in allowance for

doubtful accounts currently is of Tk. 1,000 )

@ 3,¢00 B (Tk. 2,500) 3,000 B (Tk. 1,000)

© 3,800 B (Tk. 2,400) @ 1,500 5= (Tk. 1,500)

19, —- S P T PR AT TG WA A4 [Faaws awf F0a i 1 (Contingent liabilities are ©

shown in the body of financial statement because we follow the principle of—-)

@ [FPIEE FCEF (Business Entity)
© fEeFaeE (Matching)

@RI (Periodicity)

© 74 e (Fulldisclosure)
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20. 96 TGS A GHLEA 3¢,¢00 BIFl € A T d3,¢00 B, A I (¥TF TGS AH A9 (ACF % AT )
eItz | @3 TEe Aot Forera foReE TF IIE AT ¢oF FE €9 @FFE? (An inventory having cost
price and market price of Tk. 15,500 and Tk. 12,500 respectively has been omitted while counting the
inventory at the year end. What would be the effect on business profit, if this inventory is properly
accounted for?)

® AR 3¢,¢00 B FIE | (Decrease of profit by Tk. 15,500)
A 9,000 BIF FIE 1 (Decrease of profit by Tk. 3,000)
© ARF 9,000 BIFFl ACT | (Increase of profit by Tk. 3,000)
© IAIF 33,00 GIFT AT | (Increase of profit by Tk. 12,500)

21. (AT TeAMA I TAWR? (Which one is an element of cost of production ?)

@ %A T (Office rent) ATArT FI5E (Indirect Raw Material) © =T 99 (Advertising expense)
© A9 (Bad Debt)

22, 3030 I A @A T#1E 20,000 BRI FAE €= WA 300,000 B! (AL | FAHETS FERAH 79
___ | (During 2020 Rashna Company's assets decreased by Tk. 70,000 and liabilities increased by Tk.
1,00,000. Its owners' equity, therefore )

® 3,490,000 BIF @TEE (increased by Tk 1,70,000) 3,940,000 BIF FECE (decreased by Tk 1,70,000)
© wo,000 BT ([T (increased by tk 30,000) © wo,000 BB BT (decreased by Tk. 30,000)

23. TeHE 7] (O SEGT TG (&4 3¢,000 B | TS BARHIA T4 @0,000 B, W S ,¢00 Bwre (0
ieeifa<a2s 8 3¢,000 BIF! %o | 2319 (I A949 =19 74l T 20,000 BT G Qe TS Witz | Meacney
AN T o T (Rangdhanu Shoe Store had a beginning merchandise inventory of Tk. 25,000.
During the period, purchases were of Tk. 50,000, purchase returns were of Tk. 2,500 and freight-in was of
Tk. 15,000. A physical count of inventory at the end of period revealed that Tk. 20,000 was still on hand.
The cost of goods available for sale was __.

@ 83,¢00 B (Tk. 42,500) ®) @3,¢00 BRAl (Tk. 52,500) © w©a,¢o0 G’ (Tk. 67,500) ® 9,00 BIF (Tk. §7,500)

24, IAET TGW T Aafers qFo Rarasiar @i <fem [oe e Rt 4w M7 (Which of the @
following accounts will not appear in the ledger of a merchandise company that uses a periodic inventory
system?)

@ fafgs =l 7 (Cost of Goods Sold ) @7 (purchase) © & “fq2%7 (Freight-in)
© @ AT (Purchase Discount)

25. W @A 30,000 ST Sk SFEREE 7 (A KRG 3T NG @ T | 6w @i ©
&3l FTFe B @€/ ACEA? ( Alif Company purchased office furniture of Tk. 10,000 by issuing a short
term promissory note. What would be the effect on the components of the basic accounting equation of
Alif Company?)

@ w Qf"ﬁ 8 WA T (An increase in assets and a decrease in liabilities)
A 2 8 iy ﬁf"ﬁ ( A decrease in assets and an increase in liabilities)
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© % ¢ W TeAR @ (An increase in both assets and liabilities)
(© W ¢ iy TeA2 TIF (A decrease in both assets and liabilities))

26, 57 A0 e A e’ 1357 (Which of the following is an example of deferred revenue @
expenditure?)
@) ©5% (Depreciation) QA (Amortization) © 21 945 (Preliminary Lxpense)
© wferw @WMe ©el (Prepaid Rent )
27. Ttsa i it w6 efodiem gt e Awe oiffs <@e == om? (Which of the following )
statements describes the financial position of an organization at a particular point in time?)
® 7o &qr RFE (Statement of Cash Flows) TfETea g G99 ( Statement of Owner's Equity)
© =@ =990 (Income Statement) (®) BxEA" (Balance Sheet)

28. "ITAE Y NEfTH-E% BE, (9 @S T2 [eare e (" aft BERad _ 1 ("Many people want Mercedes- @
Benz, only a few are able to buy." This is an example —.)

® arared (of need) eI (of want) © FE99a=A (of supply) © wiRRiE (of demand)

29, 5 A0 T Aoy TaE T @9 4912 (Which of the following is the first step in new product ©
development process?)

@ = T (Product Development) A R (Business Analysis) © €991 & (Idea Generation)
© FEFFIS (Commercialization)

30. (S Prae 929 dfeas o g7l @G ? (What is the last stage of the consumer decision process)
® w1 fofesesael (Problem Recognition) G-~[F3e |59 (Post Purchase Behavior)
© ﬁ@ﬂfﬁ AR (Alternative Evaluation) © &7 (Purchase)

31, @ i FAeT 5 G 7?7 (Which ownership cannot be transferred?)
® Z9 (Place) T (Service) © B/F (Goods) © >ife (Property )

32. 97 ofifefd A e @F 9 TS *FHF — A | (One party or more parties involved in the channels of ®

distribution is/are known as —.

® 97 I (Intermediaries) q@a T (sales people) © EIARFE! (suppliers) © <5 I (retailers)

33. TeAAme G e Qb fFiwg #Afaid AT el wed A o Wi smecs | e | (Pricing method @
where a certain percentage of profit is added to the cost of production of a product is called -—
® grafefes =0 “mfe (Cost-based pricing) wigfefes I #mfe (Value-based pricing)

© «fsrafael fefes P GG (Competition-based pricing) ORIRILGIIES e A&S (Production-based pricing)

34, v il Al coisy wem Twgee? (Which of the following is an example of convenience consumer @
product?)

A = . Fa e fraro oo 1A R e L W P B P e S P B BT S R
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2 W Apreadc) B =g AWy rIsL wadLerl) ) s KL AIVIOLODr CyCIe) \UJ SSRGS LALIICLIC SrI0ES)
35. T emed 2ifema 78 @AG? (Which one is not a tool of marketing promotion?) ©

® fisA (Advertisement) &) @ @™MR(Sales Promotion) © W92bE (Propaganda) ©® &l (Public Relations)
36, (0 FEF AR BAMT T (Which of the following is not a component of micro-cnvironment?) ©
®) &tz (Customer) SEaEdal (Supplier) © TN (Demography) © efses (Competitor)
37. Q6! I @' (I $qT9 5 IR efed 2 (Which type of retail business is 'Bata She Compary?)

® = {eife (Department Store) T2 el (Multiple Store) © 29 ==t (Chain Store)
O] ?ﬂ%ﬂ‘ﬂﬂﬁ fa=ifdl (Convenience Store)

38, AT e 77y e @M 7o 0 &5 1 (Which one is correct for setting market skimming pricing)
® & g=erst (Sales trend ) T® 3 (High price) © @ #fama (Sales volume) © 8 55 (Low price)

39, Tsa @iafe corel A efewwes Taeifgs 2 (Which of the following is a psychographic variable for
segmenting consumer markets?)

@) @ T (Purchase occasion) G 5 (Life style) (© I9=I0 “fFNe (Usage rate)  ©® O (Income)

40, Toma oM @& R@a sa = | ®
(Zero-Coupon Bond is sold at___.)

® S<€EE (discount) EICE (premium) © S Y@ (market value) ® wfsfes & (face value)

41, F5a @ 12 T SR AR S RFEsE av@ ALEAS it AE2AWhich of the following ©
two types of returns do shareholders usually receive from their investment?)

® 7 ¢ T (Interest and Dividend ) e =g ¢ Tene (Expected Return and Dividend)

© =TI ¢ Tﬁ‘dﬁ M€ (Dividend and Capital Gain) © e ¢ el (Dividend and Profit).

42, 059 @9 Fa FEraAn G2 W 282 (Which of the following situations requires short-term ©
financing?)

@ e @a(Machine purchase) TFAR7@ &4 (Furniture purchase) © FISIE &F (Raw materials purchase)
ORAGIZSARGEIG (Building construction)

43, T BN 93 @FefE I A So/20, FE Soo! TS 4T [T <108 T T | O I T I T2 ©
(Mr.Imran purchased some goods in credit terms "10/20, net 100. What is the cost of trade credit?)

@ 20% (20%) wo% (30%) © 80%(40%) ® ¢o%(50%)

14, o5 ol “afen cwa RiFTACT @ QT g age Sacs 20 20 GiEE g9 LW 98 s il gs (B
FR? (Under which of the following methods should the return of a project be greater than its cost of
capital to accept the project for making investment?)

@ TATAT WA DA (Internal Rate of Return) 4G AT BF (Average Rate of Return)
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© A6 TETH 7 (Net Present Value) © =reEaFol IBF (Profitability Index)
45, (1 g i L@t T T T2 (What type of risk can be reduced through diversification) @

@ &= 3 (Company Risk) eeEhE IRF (Systematic Risk ) © sEFRifs 9% (Inflation Risk)
© Astafes IF (Political Risk)

46. (T THYWAA VR OFE ATHF F35 G- T TS 22 (Which negotiable Instrument must be
presented to the same party twice?)

@ wEEHE (Promissory Note) faferar T (Bill of Exchange) © sTegiee st (Dividend Warrant)
©® @F (Cheque)

47, Forsd el codim leceq del FrRme sAfmase safoq wwge T2 (Which of the following is not included (&)

in the quantitative methods of credit control of the central bank?)

@) Feg TSI AMS (Rationing of Credit policy) JYieF 2 FitS (Bank Rate Policy)
© 2l AEE Afs (Open Market Policy) © T 29 e Ff® (Reserve Ratio Changing policy)

48, Ft5a @l R FigF T2 (Which of the following is not a central bank?) ©

® Tz wielfs =19fafs 19 6 (Royal Monetary Authority of Bhutan) GRF o9 IS (Bank of England)
© Fore [9E® PE6Y (Federal Reserve System) @) A FgF S<E D] (National Bank of Canada)

49, @ facarsy fewm e Twimae? (Which of the following is the example of insurable pure risk?) @

@® e (Theft) 719 AT F© (Loss in the Stock Market) © =fexifd (Pandemic)
© ATATST TRFFS (Political Unrest)

50. (1 faoa Sige ©ie =6 coifeiaig o/ sAfamiiy oa 2, SR oo o oy 514 ffweia? (Who has ©
insurable interest on freight in marine insurance if the freight is paid after arriving goods at the
destination?)

@) I99 FY7CFA (Port Authority) fFafae 9& Faenifte @rewBa (Clearing and Forwarding Agent)
© #fef MFFE (Cargo Owner) © Motz @9 (Shipping Company)

51. (-t whoq =Afawie ¢ faxt wif enwiy o (19 CF6a 7RE? (In which of the following marine insurance ©
cases: it is easy to determine the amount of loss and recovery of insurance claim?)

@ AR Ay #{EF (Jetrison) Tl AEE T (Constructive Total Loss )
© AYAY Wef¥F S (General Partial Loss © R =ef=s € (Particular Partial Loss)

Fill in the blanks with appropriate words

1. She likes ___ long emails.
A writes writing © write ©® wrote
. m
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2. We ___ not hurry, we have got plenty ot time. \e)

® may need © would ® do

Choose the correct form of verb (questions 16-17)

1. Sumon is not here, he is out ___ his uncle. ©
® visited is visiting © visiting © visits
2. 1 wish I ....... a child again.
® am were © was ® be

Select the alternative that best replaces the underlined word of the sentence below:

1. He is intimidated by his boss. ©

® frightened promoted © disliked ®© encouraged

Choose the appropriate pair of words matching the relationship suggested in the capitalized pair :

1. FANS: GALLERIES ©

@) Teams: Goalposts Referee: Decision © Audience: Seats ® Tickets: Counters

Choose the appropriate preposition (questions 21-22)

1. The gift was wrapped ___ blue paper. @
® by around © of © in
2. 1 will take my driving test ___ a week. ®
® in about © for ® on

Complete the sentence :

1. The patient’s blood pressure was —-. ©

® so high to ignore much higher to ignore © too high to ignore ®© more high to ignore

T —
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